

# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS LOWER KALINGA DISTRICT ENGINEERING OFFICE CORDILLERA ADMINISTRATIVE REGION Bulanao, Tabuk City, Kalinga

October 14, 2024 Date

#### INVITATION TO PAKYAW GROUPS

The Department of Public Works and Highways (DPWH) Lower Kalinga District Engig. Office thru the District Engineer RUBY A. UYAM, this Office, is inviting Pakyaw Groups (Labor Only) to apply for the various items of work involved in the proposed construction of the Project under the following contracts:

Contract ID No.:

24GPL0018

Contract Name:

Replacement of Floor Tiles and Improvement of Conference Room and COA and improvement of Property, Lower Kalinga DEO,

Bulanao, Tabuk City, Kalinga

Contract Location:

: Bulanao, Tabuk City, Kalinga

ABC:

205711.24

C ID II	Work Activities						
Contract ID No.	Act #	Description	Unit	Quantity	Unit Price	Total	
24GPL0018	801(1)	Removal of Structures and Obstruction	ls	1.00	11,216.60	11,216.60	
	803(1)a	Structure Excavation (Common Soil)	cu.m.	6.40	237.15	1,517.75	
	900(1)c	Structural Concrete (Footings and Slab on Fill, Class A, 28 d	cu.m.	1.41	2,260.29	3,182.49	
	902(1)a	Reinforcing Steel (Deformed), Grade 40)	kg	140.04	6.47	905.40	
	1003(1)a1	Ceiling (4.5mm, Metal Frame, Fiber Cement Board)	sq.m.	30.00	303.79	9,113.66	
	1027(1)	Cement Plaster Finish	m2	15.00	87.66	1,314.95	
	1006(6)	Doors and Frames	l.s	1.00	2,438.90	2,438.90	
	1009(1)a	Window (Analoc-Glass)	sq.m	12.00	1,505.05	18,060.56	
	1013(2)a	Fabricated Metal Roofing Accessory (Ridge Roll)	l.m	4.00	37.76	151.04	
	1013(2)b	Fabricated Metal Roofing Accessory (gauge 26, Flashings)	l.m.	15.00	37.76	566.42	
	1013(2)c	Fabricated Metal Roofing Accessory (Gutter)	l.m.	6.00	37.24	223.43	
	1014(1)b2	Prepainted Metal Sheets (above 0.50 mm, Rib-Type, Long S	m2	70.00	265.83	18,607.87	
	1032(1)a	Painting Works (Masonry/Concrete)	sq.m.	40.00	242.21	9,688.44	
	1032(1)c	Painting Works (Steel)	sq.m.	30.00	152.43	4,572.94	
	1047(7)	Structural Steel	l.s	1.00	77,381.16	77,381.16	
	1047(8)b	Structural Steel Purlins	kg	749.52	22.17	16,614.72	
	1018(1)	Glazed Tiles and Trims	sq.m	90.00	335.05	30,154.91	
						205,711.24	

Application forms are available at the Office of the District Engineer, DPWH-LKDEO, Tabuk City, Kalinga. The deadline for the submission of application forms will be on:

October 18, 2024

Qualified PAKYAW GROUPS will be notified of the employment on or before

October 25, 2024

The total amount of work that shall be performed under this "Pakyaw Contract" shall not exceed the ABC of P 205, 711.24. Bids in excess of the ABC shall be automatically declared non-complying at bid opening. Late bids shall not be accepted

The work described herein shall be completed within thirty (30) Calender Days from the approval of the Pakyaw contract.

The DPWH Lower Kalinga District Engineering Office reserves the right to accept or reject any bid. To annul the bidding process and to reject all bids at any time prior to contract award without thereby incurring any liability or obligation to the affected bidder/s.

GENEROSO T. MUKAY BAC Chairperson

Cown	¥	TO Z	1 0

Annex	"C"	Pakvaw	Agreemen	i

	-	Date	 -	 _

## **APPLICATION TO UNDERTAKE WORK BY "PAKYAW" SYSTEM**

### THE DISTRICT ENGINEER

DPWH-Lower Kalinga District Engineering Office Bulanao, Tabuk City, Kalinga

Contract ID No.: 24PPL0018 PAKYAW LABOR

Contract Name: Replacement of Floor Tiles and Improvement of Conference Room and COA and improvement of Property, Lower Kalinga

DEO, Bulanao, Tabuk City, Kalinga

	We, the undersigned all of legal age, Filipino and members of th	ue Barangay	hereby apply
to provide labor	, supply and equipment only undertake the work described in the N	lotice to Undertake the work described	in the Notice to Undertake
	or the: 24GPL0018:Replacement of Floor Tiles and Improvemen DEO, Bulanao, Tabuk City, Kalinga	it of Conference Room and COA and in	nprovement of Property,
representative.	We are a Team of Workers willing to undertake the work jointly	under the direction of the District Engin	neer or his duly authorized
representations	This will also authorize	The state of the s	Pakyaw Group Leader to make

1 5	Name of Workers	Address of Residence	Signature
Trans.	(Team Member)		
1	S LOW TO THE LAND OF		
2			
3		ar kalendari kana 7	
4			
5	7 446 1 1 1 1 1 1		
6			
7			
8			
9			
10			
11			
12			
13			
14			
15			
16	Maria Na Cali		
17			

The BAC Chairperson Department of Public Works and Lower Kalinga District Engineerin Bulanao, Tabuk City, Kalinga				
Name of Project:		ent of Floor Tiles and Improve ent of Property, Lower Kaling		
to provide labor only and undert	take the work d	, Filipino and members of the Barar escribed in the "Invitation to Pakya o undertake the work jointly under t	w Groups" for Contract ID No.: 240	
This will also autho		ayments for and on behalf of the gro		AKYAW GROUP LEADER to make
Name of Workers		Address of Residence	Signature	
1.)(I	Leader)			
2.)				
3.)				
4.)			The state of the s	
5.)				
6.)				
7.)				
8.)				
9.)				
10.)				
11.)				

12.)

13.)

18.)

17.)

19.)\_\_\_\_

APPLICATION TO UNDERTAKE WORK BY "PAKYAW" SYSTEM

# The BAC Chairperson Department of Public Works and Highways Lower Kalinga District Engineering Office

Bulanao, Tabuk City, Kalinga

Sir/Madam:

I have the honor to submit herewith my quatation for the 24GPL0018 - Replacement of Floor Tiles and Improvement of Conference Room and improvement of Property, Lower Kalinga DEO, Bulanao, Tabuk City, Kalinga, with the following items below:

NO.	DESCRIPTION	QTY.	UNIT MEAS.	UNIT COST	TOTAL
801(1)	Removal of Structures and Obstruction	1.00	ls		
803(1)a	Structure Excavation (Common Soil)	6.40	cu.m.		
900(1)c	Structural Concrete (Footings and Slab on Fill, Class A, 28 days)	1.41	cu.m.		
902(1)a	Reinforcing Steel (Deformed), Grade 40)	140.04	kg		
1003(1)a1	Ceiling (4.5mm, Metal Frame, Fiber Cement Board)	30.00	sq.m.		
1027(1)	Cement Plaster Finish	15.00	m2		
1006(6)	Doors and Frames	1.00	l.s		
1009(1)a	Window (Analoc-Glass)	12.00	sq.m		
1013(2)a	Fabricated Metal Roofing Accessory (Ridge Roll)	4.00	l.m		
1013(2)b	Fabricated Metal Roofing Accessory (gauge 26, Flashings)	15.00	l.m.		
1013(2)c	Fabricated Metal Roofing Accessory (Gutter)	6.00	l.m.		
1014(1)b2	Prepainted Metal Sheets (above 0.50 mm, Rib-Type, Long Span)	70.00	m2		
1032(1)a	Painting Works (Masonry/Concrete)	40.00	sq.m.		
1032(1)c	Painting Works (Steel)	30.00	sq.m.		
1047(7)	Structural Steel	1.00	l.s		
1047(8)b	Structural Steel Purlins	749.52	kg		
1018(1)	Glazed Tiles and Trims	90.00	sq.m		
		то	TAL AMOUNT		
	TOTAL AMOUNT IN WORDS				

Vary	trul	11	yours,
V CI y	uu	·y	yours,